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Tén:_ Ngaythang:_ Piém:__
4717 x 10 = 3.733 x 10 =
7.306 x 1000 = 9.759 x 10 =
8.533 x 100 = 4.46 x 100 =
3.154 x 10 = 2.18 x 100 =
2.535 %100 = 5.329 x 100 =
2.683 x 10 = 6.32x 10 =
8.812 % 10 = 5.247 x 1000 =
9.99 x 1000 = 7.927 x 100 =
1.977 x 100 = 1.819 x 100 =
3.294 x 1000 = 3.173 x 100 =
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Tén:__ Ngaythang: _ Piém:____
4717 x 10=47.17 3.733 x 10 =37.33
7.306 x 1000 = 7306 9.759 x 10 = 97.59
8.533 x 100 = 853.3 4.46 x 100 = 446
3.154 x 10 = 31.54 2.18 x 100 = 218
2.535 %100 = 253.5 5.329 x 100 = 532.9
2.683 x 10 = 26.83 6.32 x10=63.2
8.812 x 10 = 88.12 5.247 x 1000 = 5247
9.99 x 1000 = 9990 7.927 x 100 = 792.7
1.977 x 100 = 197.7 1.819 x 100 = 181.9
3.294 x 1000 = 3294 3.173 x 100 = 317.3
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